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Losungen Training Integralrechnung |

Ausfuhrliche Losungen:

Al |Ausfuhrliche Lésung

f(x)=x*= F(x):%x3+c Probe: F'(x)=§-3x2+0=x2 =f(x)

A2 | Ausfluhrliche L6sung

f(x)= 2% = F(x) :gx3 +C  Probe: F'(x) :§-3x2 +0=2x°= f(x)

A3 | Ausfiuhrliche Lésung

1E(X):X=>F(X)=%X2+C Probe: F'(X):%-2X1+0:X2f(x)

A4 | Ausfihrliche Lésung

f(x)=-2x=F(x)=-x*+C  Probe:F'(x)=-2x"+0=-2x = f(x)

A5 | Ausfihrliche Lésung

f(x) =%x2 = F(x) :éx3 +C " Probe: F'(x) :%-3x2 +0 :%x2 =f(x)

A6 | Ausfluhrliche Lésung

f(x):—%x:F(x):_%XZ +C " Probe: F'(X)z—%-2x1+0:—%x:f(x)

A7 |Ausfuhrliche Lésung

f(x)=x° = F(X)Z%XM_C Probe: F.(X):%_4X3+0:X3 (%)

A8 | Ausfluhrliche Losung
f(x)=4x® > F(x)=x*+C  Probe: F'(x)=4x%+0=4x> = f(x)

A9 | Ausfluhrliche Lésung
f(x)=2=F(x)=2x+C  Probe: F'(x)=2-1x" +0 = 2 = f(x)

A10 | Ausfihrliche Losung

f(x):x+1:>F(x):%x2+x+C

Probe: F'(x):%-2x1+1x°+0:x+1:f(x)
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A1l | Ausfihrliche Losung

f(x)=x2+x—3:>F(x):%x3+%x2—3x+c

Probe: F'(x):%-3x2+%-2x1—3-1x°+0:x2+x—3:>f(x)

A12 | Ausfihrliche Losung

f(x)=x";neN=F(x)

n+1

1

=—x""+C

n+1

Probe: F'(x) = —=—(n+1)x" +0 = x" = f(x)
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